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Questions: No

Question Numbers: (1to5)
Question Label : Comprehension

Read the following passage and answer the questions that follows:

Mankind is one, but people belong to different backgrounds. They
are at different stages of historical evolution and they hold diverse
political beliefs. This diversity is essential for the very existence of
the world. Attempts to impose doctrines of uniformity have not
only failed but have proved to be a danger to peace. Our policies
are based on appreciation of this truth co-existence, although
regarded by some as truism, is still the only possible basis for
international relations. It is rooted in present day realities and
provides the framework for the survival of the human race.

Sub questions

Question Number : 1 Question Id : 2767703638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Uniformity of the World is

Options:
Beneficial

. Possible



; Impossible

Dangerous

Question Number : 2 Question Id : 2767703639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

People usually have different
Options:

j Bodily passions

Political beliefs
Existences

Relationships

Question Number : 3 Question Id : 2767703640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The basis for international relations is
Options:
| Political beliefs

. Survival of man

3 Co-existence

A Diversity

Question Number : 4 Question Id : 2767703641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The present day situation demands
Options:

1 Essentialism

. Hedonism



; Existentialism

A Co-existence

Question Number : 5 Question Id : 2767703642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Truism’ means

Options:

A truth which is not worth noticing
L

A statement that is so obviously true that it is almost not worth saying
An argument worth noticing unanimously

An issue never accepted by any body even secretively

Question Number : 6 Question Id : 2767703643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Hobson’s Choice” means:

Options:
Choice to live or die

No choice as there is only one thing

k-2

Excellent choice

The people’s choice

I

Question Number : 7 Question Id : 2767703644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct preposition to fill in the blanks

He was leaning the wall

Options:



at

against
3 5

Question Number : 8 Question Id : 2767703645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chose the correct preposition to fill in the blanks:
He held the umbrella___ his head

Options:
| upan

at

o]

on

over

Question Number : 9 Question Id : 2767703646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Each word given below is spelt differently. Choose the rightly spelt
word
Options:

1 example

strecture

grammer

professar

Question Number : 10 Question Id : 2767703647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pick out the most suitable word to complete the sentence:
An insect with many legs is called

Options:



L vertibrate

centipeda

k-2

mammel

mercenairy

Question Number : 11 Question Id : 2767703648 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
“The Alfa and Omega” means __

Options:
| A Shakesperean play

Beginning and end

A Greek god and demon

Lia

~ To be good and bad

e

Question Number : 12 Question Id : 2767703649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the appropriate verb from the following:
My friend _ you tomorrow

Options:

| meet

. meat

will meet

was meeting

Question Number : 13 Question Id : 2767703650 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The synonym of the word ‘passive’is

Options:



| Agitate
. Active

| Static

Lad

Dynamic

Question Number : 14 Question Id : 2767703651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The antonym of the word ‘swift” is

Options:
Slow

Hasty
_ Rapid

hurried

Question Number : 15 Question Id : 2767703652 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An example for the Exclamatory sentenceis
Options:

| When did you see him?

| saw him yesterday.
; What a surprise!

It is a sweet dish.

Question Number : 16 Question Id : 2767703653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct form of the changed voice of the sentence
“Pratima was singing a song” is

Options:



| A song was sung by Pratima

A song was being sung by Pratima

A song was singing by Pratima

A song had been sung by Pratima

Question Number : 17 Question Id : 2767703654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He asked “shall | ever pass this course?”  The correct reported
speech of the above sentence is

Options:
He asked that he ever pass the course

He asked that should he ever pass that course

| asked shall he ever pass that course

He wondered if he would ever pass that course

Question Number : 18 Question Id : 2767703655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“They have not come”
The appropriate tag for the statementis

Options:

1 Have not they?

Has they?

’ Have they?

i Hasn't they?

Question Number : 19 Question Id : 2767703656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



We shall definitely ___ the difficulty

Options:
1 Overcame

. Overcome

Overcoming

Lad

Be overcome

I

Question Number : 20 Question Id : 2767703657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He would have passed, if he had studied

Options:
Harder
1.

~ Hard

L-2

- Hardly

(W]

| harded

I

Question Number : 21 Question Id : 2767703658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Revange is ___main theme of the play

Options:

1 An

A

k-2

The

4. d5

Question Number : 22 Question Id : 2767703659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As he has ___ umbrella, he ventured into the rain

Options:



An

[

The

R

Question Number : 23 Question Id : 2767703660 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Nothing else travels so fast as light
The comparative degree of the above sentence is

Options:
1 Nothing else travels faster to light

Light is the fastest traveller

S

Light is travelling fast than anything else

Ll

Light travels faster than anything else

Question Number : 24 Question Id : 2767703661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The house was the river
Options:

1 Besides

~ Beside

L-2

On

Across
4

Question Number : 25 Question Id : 2767703662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He has been absent _ Monday last

Options:
1 Since



For

L2

3 From
" upto
General Knowledge
Display Number Panel: Yes
Group All Questions: No

Question Number : 26 Question Id : 2767703663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Imran Khan took charge as Prime Minister of Pakistan on ...
FITS (DTIDOGBMT FEFSPS DED ABBODS BISW
Options:

18" September, 2018
i ‘:bg::a:ﬁa 18, 2018

18" July, 2018
3 18, 2018

16™ August, 2018
&Gﬁ:{‘gég 16, 2018

18™ August, 2018
esXy 18, 2018

Question Number : 27 Question Id : 2767703664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the first Chief Woman Economist at International Monitory

Fund?
Eoeﬁcgécﬂa L\_c‘ﬁ;iéi.}ﬁ] ool Sopgoree Egﬁﬁg 0D ?

Options:



Chanda Kochar
So0TE 6
T

Arundathi Battacharya
Sloblelnl 1] fﬁéq;;a'htjé

Geeta Gopinath
Aae ADa8

Indira Nooyi
3080 J7Cw

Question Number : 28 Question Id : 2767703665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is related to ‘Ayushman Bharat'?
‘BRSPS w88 (308 OS” BIS HowododSa?
Options:

Education

g&iﬁﬁ

Transport
CareT

Health
ElophNe

Children
, VP

Question Number : 29 Question Id : 2767703666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is not a core sector of Indian

Economy?

LS 8K SRS (208 TUS° (2BgEoKo SR IB?
&= 2 @ Z

Options:



Pharmaceutical
[Agstale

Cement
0 0ED

Electricity

Question Number : 30 Question Id : 2767703667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following is the present Governor of Reserve
Bank of India (RBI)?
LB BT ergod (SRS KB JSEo?

—

Options:
Raghuram Rajan
=
Sa00e0 P20

Shaktikanta Das
,‘afé ¥old oo

Rajiv Mehrishi
RS o

Urjit Patel
éa%g wES

Question Number : 31 Question Id : 2767703668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state government has launched ‘Nutan Disha Initiative’ to

provide training to teachers?
S0 850 FEH J ooQ (REbEio WrdS 8F oF Uy

;5:;15}\ @*ﬁo oDoh?

Options:



Nagaland
reerch

Tripura
[\eﬁ‘@t‘f

o]

Mizoram
AL N wile

Arunachal Pradesh
eSS (HTF

Question Number : 32 Question Id : 2767703669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The present Director of the Vikram Sarabhai Space Centre is ...
DES Foreron 8 Do (P FOKD ..

Options:

Raghuveer Singh
53008 2ok

K. Sivan
BT
B, 8o

Manpreet Singh
SR (DS bok

S. Somanath
dHO%. FPoTE

Question Number : 33 Question Id : 2767703670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Ajaadi Ke Diwane Museum’ has recently been inaugurated in
which of the following cities?

208 D SKEoS® g8se ‘wwrd & 870 S50
(8o omrts?

Options:



Pune

RS

Ahmadabad

eI &@wc‘:’?

New Delhi
55:“5&@
X - i

Varanasi
Evglotar o)

Question Number : 34 Question Id : 2767703671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The author of the book “Designing Destiny : The Heart fulness
way” is ...
GBION TR - FEYOIN T e (Kol Fowd

Options:

Kamlesh patel
K008 BES

Bikram Chowdary
(o J°E8

Rajashree Chowdary

CF"'EE@, TFE0
3

Arunava Sinha
4. o

Question Number : 35 Question Id : 2767703672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the fastest train in India?
308ArS” w8 INS0SFS Tew AB?

Options:



Rajadhani Express
‘\_F‘ = E
ikl D33P

Shatabdi Express
5 A= B
%’@Q AR

Vande Bharat Express
S503 88 52D

o

Gatimaan Express
rE5rS 252D
1%

Question Number : 36 Question Id : 2767703673 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The author of the book “281 and Beyond” is ....
281 00l wdde’ el YIE Chownd
Options:

Alok Sukla
oS’ Ho
A

V.V.S.Lakhman

L=t

2.2.98.0538

L2

Sashi Taroor
B8

Priyanka Pathak
(2aSro¥ EE

Question Number : 37 Question Id : 2767703674 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following is the winner of Noble peace prize for

20187
Elela TS 55 2018 IS Tod TN Lfié:‘-'eﬁ?

Options:



Nadia Murad
SAdir Swod

Paul Romer

&S 5506

William Nordhaus
Hldless]e ;3'513;5

Frances Arnold
=

TR oS
o =t g

Question Number : 38 Question Id : 2767703675 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On which day ‘UN AIDS ZERO Discrimination Day’ is observed?
2EoragRd ‘Do) ISKS B by ahYTI 387

Options:

A" March
570y 45 38

1% March
WQ} 135 28

-2

2™ March
338 255 325

3™ March
538 333 28

Question Number : 39 Question Id : 2767703676 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the chief of Defence Research Development Organization
(DRDO)?
SEEd DOTES @HID D0y’ SnFERT0 ISDH?

Options:



. Sivan
wr =
B o3

vl =

Punit Goenka
w5 5 &6 55
Deied N GO

]

S. Somanath
5. &

Satheesh Reddy. G
28R TE, 2.

Question Number : 40 Question Id : 2767703677 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the Chairman of the Empowered Committee of the State
Finance Ministers?

(3@ Eﬁgﬁ ool OB EWE e JS5E?

Options:

Kamalesh Patel
K580, 9856

Suresh Mehta
L Ro0R oo

=

Amith Mitra
el ;T};@
3

Bhagat Singh Koshyari
SKS Dok £7argd

Teaching Aptitude

Display Number Pand: Yes
Group All Questions: No



Question Number : 41 Question Id : 2767703678 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Learning means
Eﬁﬁéi@?ﬁéﬁjéﬁﬂ?
Options:
Training

tar)
(-]

Change in behaviour
(H3ESS” S7e)

Individual’s experience
&15_55 TE). @I

Acquisition of knowledge
DS VI0TYS

Question Number : 42 Question Id : 2767703679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The existing pattern of educational system in AndhraPradeshis
BN o|FREIS° HI) g TSI __

Options:

L 104243

1243

3 114143

_ 10+2+4

o=

Question Number : 43 Question Id : 2767703680 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To become a teacher, a person should basically have
2.5 358 eI TIn TIoodl 98l (FFtont

i

OtSenIs

Options:



Knowledge
2= 90
=

Intelligence
]

L-2

Aptitude
e

Attitude
390

Question Number : 44 Question Id : 2767703681 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The purpose of educationis
33-:.‘55 S0, Q¥ R0S008

o &8 ===
Options:

To earn
Hoarss

To become self dependent
< E.:iﬁ B3 °HP oS Jodoe

To become a scholar
HodketHseato

To gain prestige
4 D8NS oo

Question Number : 45 Question Id : 2767703682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What to do with the student who often asks questions?
SESm (DY &R {agye R D ISO?

Options:
Appreciating the student and clarify the doubts
R0 9GAICHN ITON @ICAIT VOTTINE SdhEe.

] <



Encourage the student to find out the answer by himself
B3 DoTTFKH RYCIOMT DRTEEO0 IO SATSE0 '@E@Q?ﬁcﬁdo

L-2

Asking the student to meet after the class
TR0 o Shad ﬁmégﬁ'} K0 Eﬁ.‘&ﬂc‘i@

Advising the student not to disturb the class
SEKAS” esodioraive KDoSSE ;':,-at-safa oSt !.‘{;::';Sa"o.
4 A = 2P

Question Number : 46 Question Id : 2767703683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Communication will be effective, ifitis
ER|RRTE DDPED DRYToBIT 0808 __
Options:
Delivered slowly and clearly
TR0, RO TS
oJ B3 o

Delivered using appropriate media
2050 D’Fc'ﬁ;;im DB FACDSYED

Received as intended by the sender
E'f.:ﬂ T &) STEGorT HirodIYDd

Received immediately
083 (KTroDSYHE

Question Number : 47 Question Id : 2767703684 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Basic tool for modernization_
es$IBEHRDH m$§5°¢“~:jo_

Options:
Education
alls

L 5D

Mass media
) @aﬁdﬁfdm@;



Voluntary organizations
‘;ﬁﬁmcﬁ RDORED

Politics
oraddioren

Question Number : 48 Question Id : 2767703685 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For an efficient and durable learning, learner should have
n:::a:«dmoe:a?:m ‘“*““\?;5 P;:I..J e, @e;nc;n:_;m_, e SEebuta)

Options:

Ability to learn only

ST 00D THORS FHYio (G
1.

Requisite level of motivation only
IOV (P8 é;m S

Opportunities to learn only
"r*tinf‘".méa"* THOVS WITTen SR

3.
Desired level of ability and motivation only
38005 Yo 0L (D8 Jrow S
4 T fas]

Question Number : 49 Question Id : 2767703686 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An ideal curriculum should be___
SEHHOEIT &dgﬁ)‘&ﬂ'ﬂm__

Options:
Learner centered
LTS 50@%@?}_}5&
I = '

Teacher centered

&5l To QXSRS
- ¢l



Head master centered

= s&
5 SEOT SRR B g

Content centered

30 So|BKWRoS
a —

Question Number : 50 Question Id : 2767703687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Interaction inside the classroom should generate
SERS KOS =200)0 Rograe o0 Selb Ko DOEZ[00_

Options:
Argument
M ROTS,

Information

et

DJ'MF?:F'UG'

L2

New ideas
SaTED SE TN

Controversies
ﬂmc“‘;}*;n“m

MMathematics
Display Number Panel: Yes
Group All Questions: No

Question Number : 51 Question Id : 2767703688 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Roots of the auxiliary equation of (D*-2D*-3D)Y=0 is
(D*-2D*-3D)Y=0 &0k, $FSHY SDETEIZNDH Soreren

Options:

, 0,3,1



0,3,2

-2

0,0,1

0,3,-1

Question Number : 52 Question Id : 2767703689 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Integrating factor of oy 2xy =e " IS

dx
dy 2 By KoK g
e ¥ Dadorles Hoe¥aw
dx L
Options:

e’

Question Number : 53 Question Id : 2767703690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The orthogonal trajectories of r=a(1 - cos @) is
r=a( - cos 6)B0Y), V0DV DIEGED
Options:

r=b(1 - cos &)

a F=a(l +cos &)

r=bcos#

r=b {1+ cos &)

Question Number : 54 Question Id : 2767703691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Solution of y=(x—a)p—p’is
y:[_t—a}p—pzc?.mﬁ;& S
Options:
1 y=cx—ca—c

}-‘::'Z‘X+{"{I+{":

B ]

Yy=CX+ca+ax

C iy
¥y=—+taz+c

Question Number : 55 Question Id : 2767703692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1

252 i8S

Particular integral of

t 2x?
D -1

Do), (FBgE DI

Options:

. g R LA |

—(2¢® +4x+4)
4 —(4x? +2x+4)

Ayt dy 42

Question Number : 56 Question Id : 2767703693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

i , d’y _dy
y=¢ "is a solution of —5+P—+Q0y=00nly when
x dx
d*y _dy .8 =
—+P—+0y=0 % y=e ™ &% &S Treok]
dx dx
Options:

1-P+Q=0



1+P+Q=0

-2

14+Px=0

Px+Q=0

Question Number : 57 Question Id : 2767703694 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For what value of n, the differential equation

(xy*+ nx®y) dx + (x*+ x“y) dy = 0 is exact?

n Gook), D Dewssy (xyi+ nxdty) dx + (+ xy)dy =0
©SE0S DhosGesw Stlags PR R A

Options:

1

Question Number : 58 Question Id : 2767703695 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T;an xX=
D°+D+1
Options:

L Sin x

Cos x

L2

1 ..
—Sin x
3

—Cos x

Question Number : 59 Question Id : 2767703696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



dv

Solution of & . y_ xy? is
s 3
.Tﬁ+ y= _r}:? C?J-JJ}-_\{L_ r\..l‘t‘d;j
dx
Options
l 5
—=2x+cx
L 7
¥ 2
e
VX
1 S
| R
== +¢
y X
3.
| e ; z
—=—+cx"
¥y X
4.

Question Number : 60 Question Id : 2767703697 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Particular integral of (D*+a?) y = cos ax
K 2 wr =D [
(D°+a”) v = cos ax cﬁwz‘;_r @@55 RanEed

Options:

X
—Cos ax
2a

1:
X
— Sin ax
q 20
Cos ax
2a
3.
Sin ax
Ly |
=i
4

Question Number : 61 Question Id : 2767703698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The general solution of (x*D*+4xD+2) y=0 is
(x*D*+4xD+2)y=0 S, T FES

Options:



2 3
Y =CiX + CaX

2
Y = CiX+ CaX

'ﬂ‘ E-"\
1 2
1|' ==k 3
X X
3.
£: L
=
X X
4.

Question Number : 62 Question Id : 2767703699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

d’y . dy ;
Solution of 4:1 > —4E}+}’=0 satisfying y=-2 and y =2 when x=0 is
. X
X =0 @ONIIPE ¥ = -2 500CI1 y=205 SO
d*y  dy
4—=—4—+y=0 S%_ FIS
g dx G B
Options:
; _‘;,-‘=|.‘_3_\:—2]|€§f1
 y=(@x-1)e”
y=e? +e
3.
y=(2x-3)e’
4.

Question Number : 63 Question Id : 2767703700 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: . ( dy .
The solution of p‘—5p+ﬁ=0‘ p=—is
y dx |

) [ dy | ). i
p‘—5p—:6=01|. de_i-‘ 5;353: TGS

Options:

(y+3x)(y-2x-c)=0



. (y-3x-c)(y+2x-c)=0

(y43x+c)(y+2x+c)=0
(v-3x-c)(y-2x-c)=0

Question Number : 64 Question Id : 2767703701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The equation x(1+y°) dx + tan™y dy=0 is satisfied by
x(1+y?) dx + tany dy = 02205867 S 3TYS
%
Options:
y=tanc—x?)
2

—
"

y=tanyc—x°

-2

y=tanXx
yzt::u’ix1

Question Number : 65 Question Id : 2767703702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of arbitrary constants in a differential equation with
degree 2 and order 3 is

SONRS 2 00N DT I N ©5E08 J.ER0 cﬁwﬁb_
dﬁ?ﬂw”dﬁ

)

B

oplaloads ::’mgpé

Options:
l. 3



Question Number : 66 Question Id : 2767703703 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The general solution of A oty

dx
, B— :
dy _ e S0, e ;S
dx
Options:
e'+e’=c
l.
e'+e¥=¢
o
5 e-e'=c
e*af=zg

Question Number : 67 Question Id : 2767703704 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. ¥ 2% 3x .
Wronskian of e”, ™, e™ s
2 3 e
e e e™ ook, mo?&t_dﬁm

Options:

2
2e™”

ax

-2

4
2e

Bx

2e

Question Number : 68 Question Id : 2767703705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
" d},
Particular solution of —+a”—=sinax, a< R—1{0}is

-
iy

X dx

d’y ,dy . ”®
* +a"——=sinax, ac R—{0} SoH_ [DEcE 550
dx dx 0} e P=y e @

Options:



3

o

SiN ax

|\1 =

[rh :
Y=——35INax
4

X .
y=———=8in ax
3 Eﬂ'_
X
y=——S8IiN ax
la

Question Number : 69 Question Id : 2767703706 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Particular integral of (D*-4D%) y=5is
(D*- 4D%) y = 5 BoE

I @555" DSrEed
Options:
5
——X
;. 8
J 3
——x
= 5
B9
E.T
3
5 ]
_E_r
4.

Question Number : 70 Question Id : 2767703707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The solution of P=Sin (y-px) is
P =Sin (y - px) @5, eSS
Options:

|
| Y-CX=5In C

e =1
V-X=C5INn C

-



V = CX + sinc
3

¥ + CX = sinc
4.

Question Number : 71 Question Id : 2767703708 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The xz plane divides the line joining points (2,4,5) and (3,5,-4) in
the ratio
(2, 4, 5) 508050 (3, 5, -4) Dot Send) DSy Xz Sosw
Ae¥eRoT IG

Options:

| 2:3

-2:3

k-2

-4:5

4 4:5

Question Number : 72 Question Id : 2767703709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A=(1,-2,3), B=(2,3,-4) then the D.Cs of the ray AR is
A=(1,-2,3),B=(2,3,-4) 003 AB Tp ), &.d.

55089, 08

Options:
1 ] 3 7 1
\\75 757475 )
l.

(-1 5 ?-|
(VTS5 75 475 )

[

1
‘\ xl'l'ﬁ -. \I'I'ﬁ : ﬁ.l'lﬁ /

" -1 -5 7
*«.""ﬁe *-.""ﬁ* 'vf?_ﬁ



Question Number : 73 Question Id : 2767703710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The perpendicular distance of the point (1,-2,8) from the plane
2x-3y+6z =63 is
2x - 3y + 62 = 63 SerI8 (1, -2, 8) ool AdS LoirEsn

Options:
1. 0

. =1

Question Number : 74 Question Id : 2767703711 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifthelines 2=1_Y—"2_¥-3 gnd ¥~ 1_¥3_2-644
—3 2% 2 3k I 5
perpendicular to each other then value of k is

e }'—3_;3;\'5@-:” -1 =5 :_B-E.ia}@i oo o]
ST T 3% 1 =5 o)

©OLT T “@aﬁc}@cﬁa k aJens

Options:
E
1 7
—E.
7 10
20
T
3
—10
4 T

Question Number : 75 Question Id : 2767703712 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The angle Bbetween the pair of planes 2x% - 2y" + 42° + 2yz + 62x +
3xy = 0 satisfies
2x% - 2y* + 4z2° + 2yz + 62x + 3xy = 0 Sodiom)© E&Cﬁéﬁ.ﬁﬂﬁ 05

L3



Options:

5in & = i
9
l.
cosfd =—
l65
tané& = \_
3
tan # =—
4.

Question Number : 76 Question Id : 2767703713 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The angle between the lines, whose direction ratios are 1,1,2 and
V3—1 —3-11is

1,1, 2580 V3-1,~v3-1185 38es Ko Spo 55 Seasw
Options:

0
30

60°

[

90"

180°

Question Number : 77 Question Id : 2767703714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The d.rs of the projection of the line 'T;ﬁ“ i -'“'; 2_ 5;] in the plane
9x+8y+2z — 1=0
9x + 8y + 22— 1 = 0 Swod" ";4: -";2 = 5;6$ Soox),

IEIS0SE &F Sopgen
G o
Options:
1 -30,23,43



30,-23,43

L-2

23,-30,35

20,30,35

Question Number : 78 Question Id : 2767703715 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The interior point of the sphere x* + y* + z2°= 12 is
X2 +y? + 2= 12 B¥5035% @088 Dot
Options:

(4,0,0)

(1,2,3)

L2

, (1,02)

(1,1,2)

I

Question Number : 79 Question Id : 2767703716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the radius of the sphere x* + y*+ z° + 6x— 8y —t = 0 is 6, then
value of tis
Xyt +6x -8y —t=0e3 AvJ2 oogar

o

3500 6 BoND

11104

t e
Options:

10

11

L2



Question Number : 80 Question Id : 2767703717 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Distance between the parallel planes x +2y-2z+1=0,
2x+ 4y -4z +5=0is
X+2y-22+1=0, 2x+4y -4z +5=0330080 dere

;.:’oc‘éé whla by

Options:
1

2

Question Number : 81 Question Id : 2767703718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Angle between the lines X :% =fand Bl =¥
1 2

i5

i
|
[
—

X

|
Options:

45°

= £ 508850 '_:Ll:fﬁajra;:i:;cjg;‘nm;;
! =

b |

90"

L2

180"

270°

Question Number : 82 Question Id : 2767703719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pole of the plane x—y + 52 — 3 = 0 w.r.t. the sphere xX* +y* + 2" =9 is
X +y + 77 =9 RS SYREg X =Yy +52-3=0800 B0k, SIS0
Options:

(3,3,3)



(3,-3,3)

(3,15,15)

, (3,-3,15)

Question Number : 83 Question Id : 2767703720 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The centre and radius of the sphere x* +y* + z° - 2x + 4y -6z =11
are
2 2 2z i = T B T " s s
X +y +2°-2x+4y -6z =11 AEFESw ﬁm.ah_ So|Haw 2dcin
;n&%nd;s;;
£ =]
Options:

L (1,-21)3

(1,-2,5)3

" (1,-2,3),5

. (3,1,3).2

Question Number : 84 Question Id : 2767703721 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the right circular cone has three mutually perpendicular
generators, then its semi-vertical angle is
2.5 oo wﬁoﬁa FOS05 Dol T vow =I5 Tpew
Dy T %’G‘Dﬁfﬁﬁw

= =

Options:

tan ~* /2

]



V7 g
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Question Number : 85 Question Id : 2767703722 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The condition that one plane ux + vy + wz = 0 may touch the cone
O0D

AR

a){2+b'5,rr2 +cz*=0is
B ok i 2 2 % o
ux + vy + wz = 0308300 ax™ + by +cz” = 0 dopod) o

SEaToTns]
Options:
u ! MW
a b .
’ "
7 v M
3 E '|_ 1:{:}
R R -
2 2 2
u VoW
ol
o & B e

Question Number : 86 Question Id : 2767703723 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
The solution of the equation x®5 = 6 a group (z;, ®) is
(27, ®) DXETIT°EN SO0 X @ 5 = 6D0ESEY TS

Options:

4

L
=

Question Number : 87 Question Id : 2767703724 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical



If axb =a+ b+ abis binary operation on aset R-{-1}, then the
inverse of ‘a’ is

R-{-1}e53 508 a%b =a+b+ab eHIo choKxy (B3

@003 ‘a’ Bk, IS S0,

Options:
a
1+a
l.
1+ a
" i
—da
1+
3 a
1—a
4 a

Question Number : 88 Question Id : 2767703725 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If His a subgroup of a group with degree 20, then which of the
following is not possible to be the degree of H
20 SEREM Ko DrTtl8 H ¥ 90505550 @ond Sod

TS DO H SBook), SEKST oL JeudER.

Options:

4
L.

20

15

Question Number : 89 Question Id : 2767703726 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If 0(a) = 25, then 0(a’) is
0(a) = 25 &0 0(a°) Ve

Options:



5

20

L2

Question Number : 90 Question Id : 2767703727 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

(-32) 455 =

Options:

e

Question Number : 91 Question Id : 2767703728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a group, the order of an identity element is
2.5 DIFTINSY SS)H Sreso @), SEKS
Options:

N
1.

n-1

k-2

Question Number : 92 Question Id : 2767703729 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If x, y are any two elements in an abelian group with 0(x) = 7,
O(y) =5, thenO(xy)=
X, y e 2.5 dDOHS D5rTEndtd soretecns

0(x) =7, Ofy) = 5 @08 &P 0(xy) =

Options:

| 35

24

k-2

12

Question Number : 93 Question Id : 2767703730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of generators in a cyclic group of order 7
7 SCKEM Ko ﬁ@tﬂ: DTN S Y aSKhreTe ﬁc:@ﬁ

Options:
] 3

Question Number : 94 Question Id : 2767703731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If Pis a prime, then ¢(P")=
P P& arosan wond 0 (P")=____

Options:

PH
1.

P'(1-p)

"



1
a

P.ﬂ

P*(p-1)
4

Question Number : 95 Question Id : 2767703732 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of generators of the group (Zs, +15) is
(Z15, +15) RE0TTP0 DNE), B#IT JrOTO ﬁo&a§
Options:
1. 8

10

L2

12

15

Question Number : 96 Question Id : 2767703733 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If H={-1}, is a complex of the multiplicative group G = {1, -1}, then
H' =

BN D e 0w = T bl Bl o e ok = 2
ot [DaurSradn G =11, l}c?.o.f_q_]_ ToRS) H={-1}
SOTIPE H =

Options:
{1}

I
{1.-1}

5 1}
{-i}



Question Number : 97 Question Id : 2767703734 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If @:2—75is a homomorphism, then ©(25)=
D7 — a8 [oiTrId 8o '&'5:3:336;3 P(25)=

Options:

2
L.

15

25

Question Number : 98 Question Id : 2767703735 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of odd permutations in Sg is
SS°0 B PTore doRg

Options:
| 120

. 240
; 360

, 480

Question Number : 99 Question Id : 2767703736 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The inverse of the permutation (2 3 4) is
(23 4) Prusn Bwf, S 05w
Options:

. (324)

(432)

~

(24 3)



, (234)

Question Number : 100 Question Id : 2767703737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The cycle representation of the permutation

-

[ TR

4 5 6 T)
3

3
1S
4 1 & T)

(1 22 34 5 & T s T
| ¢ (PrgE0 o), 26 5Y
13 2 4 51 6 T}~ = o)
Options:

: (123)

(4567)

[

(1354)

(1345)

Question Number : 101 Question Id : 2767703738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

_1 -1
The sequence Sn=——— converges to
n
|:_”n—l
Sn= @5 (K050 B2 e Totheod
H
Options:
1
3 0
3. 1
n
4,

Question Number : 102 Question Id : 2767703739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



r

iimn—” = 0if
e

r

lim = UJQ.’:.-J}C?;J &9 )e008

Mo x‘”

Options:
X =1

x<1

Question Number : 103 Question Id : 2767703740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

flx)=x* cosL is not continuous at
X

Flx)=x? cos—% L5 D) HPE008
X
Options:

L =1

[

Question Number : 104 Question Id : 2767703741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

flx)= s has jump discontinuity at

X
flx)= 205 9.5 003 DS $OAHoewod
X
Options:
x=0
L.

x=1



Question Number : 105 Question Id : 2767703742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

. Ix-21
Iim =
24 y
Options:
0
l.
i |

Question Number : 106 Question Id : 2767703743 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

) I_.'IZ
1|m!1+—!

n—as | _'l'

Options:

i B

L2

Question Number : 107 Question Id : 2767703744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

f(x) =[x| + [x-1] is not derivable at x=
f(x) =lx| + [x-1[FD00E0 x= S 550 5.

Options:



(0, 1)

{lr "1}

{O; '1}

(-1, =)

Question Number : 108 Question Id : 2767703745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In Taylor’s theorem, Legranges form of remainder is
Bob drossnd™d Bros srdo S, 83 HeEw

Options:

L £ (6x)
n!

(b —a)" f" (c)

!

[

b—al"” " ()
(n—1)t

(b—alflc)
(n)

Question Number : 109 Question Id : 2767703746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The value of C from Canchy’s mean value theorem for

flx)= Jx. glx) = L,_ v xe [12]is
v A
12] 8% (98 x% flx)=vx, glx) = —, Y xe[12]

Options:



Question Number : 110 Question Id : 2767703747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

[ log (1+ x) dx =
1]

Options:
, log2-1

2log2-1

L2

2iog2+1

Lad

i log2+1

Question Number : 111 Question Id : 2767703748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

i x [x] dc=
il
Options:
1
1.
7 3
2
i
3
2



Question Number : 112 Question Id : 2767703749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

1 x"IE

Fir =
@a (2n+1)(2n+3)

1
and b, = —, then ,; % _

i A

nes “n

| =

Question Number : 113 Question Id : 2767703750 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

n

X oo
If a,=—. a;=1, then lim—=L =
n! ns g

L
A

X o 8
L a,=Lescanss e0ves lim 2 =

od R—pix
It r."{"

Options:

n
l.
2 t

0
3.

x

B h

Question Number : 114 Question Id ;: 2767703751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



J I -_"-
| | +— |
Forx >0, the series ¥ =

n

is convergent if
X
/ | .5
|1 B |
x>0% 383 Y/ e Bomewod
| — -1..“

Options:

I X<e

X=e

x=e

Question Number : 115 Question Id : 2767703752 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
: X - :
The series ‘}—1 —, x=0, diverges if
— _:_-r-H

L]

X < W s
L% L x20(383 eRvTeED Do w0ss

_/_,l_t_:rr

Options:

x>1

Question Number : 116 Question Id : 2767703753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TheringR={a+b 2 |a,be Q}is
~odido R={a+b 2|3, be Q}eisid

Options:
Integral domain

| Y gos (w&¥o



Skew field

. PIhg o

Field
ECE

None

=,
ATl

Question Number : 117 Question Id : 2767703754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ideal of the ring (zg, +5, Xsg) is
(23, +s, Xs) SO0 B, LN At

Options:

(0, 3, 6)

(0, 2, 6)

3 {O’ 5]

4. (0. 4)

Question Number : 118 Question Id : 2767703755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The characteristic of a ring with unity is
ATOEID SOAS Socho o), wroXedksn

Options:
i 0

O

Question Number : 119 Question Id ;: 2767703756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Associates of a + ib in a Gaussian integral domain are
TREDS YT (FB¥E’Y a+ib Bk, STSHe
Options:

2

Question Number : 120 Question Id : 2767703757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of factors of x* + 4 in Zs[x] is
Zs[x] &' x* + 4 By, ruTe ROPS

Options:
1. 0

Question Number : 121 Question Id : 2767703758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If f(x) =2+ 5x+3x°, g(x) = 2x° + dx + 1 are defined over the ring
(Zg, +6, %g), then degree (f(x) + g(x)) is
(Z6, +6, Xg)0CD07D f(x) =2 +5x + 3x%, g(x) = 2% +4x + 1

o IHDOTES OIPED &\ (f(x) + g(x)) Dews

Options:

2
L.



Question Number : 122 Question Id ;: 2767703759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Zs=1{0,1,2,3,4,5} is a ring of integers modulo 6 and U = {0, 3}is ar
ideal of Zg, thencoset2+U=_
Ze=1{0,1,2,3,4,5) 938 6 - 3075% SodhHsw Sodasw U={0,

3. estSto BONB PIEHRLS 2+ U

Options:
| 2,5)

{0,3)

L2

{0, 2, 3, 5}
3

; {0,1,2,3,4}

Question Number : 123 Question Id : 2767703760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If Ris a non-zero ring and a° = a, YaeR, then the characteristic of R is
R 2% #3588 Sodo $00din a’=a, VacR ©ond R
Goo¥) eroEedEEIn

Options:
0

-2

Question Number : 124 Question Id ;: 2767703761 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



If F=({0, 1, 2, ...., 10}, 441, X11) and f(x) = x* + x + 4 is a polynomial
over F, then f(6)=
F=({0, 1,2, ..., 10}, +11, X11) 3508050 f(x) =x" +x + 4

I8 F a8 o8 2Tund, edpe f(6)=

Options:

i B

k-2

Question Number : 125 Question Id : 2767703762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If P is a characteristic of a ring R, then for all aeR, Pa =
SOdDo RE P oS eroSedssn eand (38 acR © Pa=

Options:
d
]::
0
i
2
3 a
None
D&z
4.

Question Number : 126 Question Id ;: 2767703763 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The divergence of the vector function f(x, v, z) = Yo Y L a ol
xy’z rat the point (1, -1, 1) is
‘&5?@5}5‘&35}3 fix, v, z) =x27-2y3 227 +xy*z Efl:-iﬁb_

53030 (1, -1, 1) Doty 5.:%5

Options:



Question Number : 127 Question Id : 2767703764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If f = grand (x° +y° + 2°— 3xyz), then curl f =
f =grand (x* + v’ + 2° — 3xyz) ®owS edpidcurl f =

Options:

2
L.

-2

Question Number : 128 Question Id ;: 2767703765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If A4 =t -tj+ (2t+1)F, B = (2t-3) 7 + j -t%, the di{E X B )=
t

A =t -tj+ (2410, B = (2t-3) 7 + j -tTeans OIPED

LA XE)=
dt
Options:

i+6j+28
1.

6

=]



4]+ 28
,‘-+6}'+2E

Question Number : 129 Question Id : 2767703766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The unit normal to the surface xy” + 2xz =4 at (2, -2, 3)
(2,-2,3) 58 xy* + 2xz = 4 &50SVOH G525 @025

Options:
L e j+25)
'_(-§+2:f+2E}
3
_;’+2}+2§
3
S J ok
4.{ J+k)

Question Number : 130 Question Id : 2767703767 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

fu=x*+y’+22and v =xi +yJj+zk thendiv(uv )=
U=X +y +2°8cd50 V =x +yJ+ EIE.*}D:OES‘;}JJC:—J div (uv ) =
Options:

. 3u

4y

k-2

Su

Question Number : 131 Question Id ;: 2767703768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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j; ﬁ??}.dr:

Options:

T

[

|

Question Number : 132 Question Id : 2767703769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Ifr=x;+ y} + 3% and (r"r) is solenoidal then n=

FEXi+Y]+305008d50 ("7 )essd FOHIrcnid eandén=

Options:
3
l.
-3
-1
3
1
4
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If S is any closed surface enclosing a volume V and
F =xi+2yJj+3z2F then ” curl F.xds =
K
V P08 3887550 E@ﬂcﬂ:ﬂ% ﬁc&iﬁgﬁ &0t S oW
F =xi+2y]+3zis0nd [ curl F.nds=
S
Options:
3V



6V

k-2

4V
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Dimension of the vector space of polynomials of degree < n over a
field F is

S50 F P 00de 985, <n oK D0FoSoeE
peTa Nl NG

Options:
n

n-1
n+1

n+2
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If T: R°—=NR? is invertible operator defined by T(x,y,z) = (2x, 4x-y,
2x+3y-2), then T-! =
T: RPoR3E" 5 305555000 T(X, v, 2) = (2%, 4x -y, 2 +

—

y-z)m L%EJE e

Options:

|r%,2ﬂ—b,?a—3b—c ]
g "

|5, 2a+b,Ta+3b—c|

-



(a.2a+b.a+b+c)
3.

E.f—]ﬂ—:b,a—b—c |
2 J

4.
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If T: R*—=NR?is the linear transformation given by T(1,2) = (3,0)
and T(2,1) = (1,2) then T (1, 1) = _
T: REoR%2E 2awew HBSYSHaw T(1, 2) = (3, 0) HBS® T(2, 1)

=(1,2) 7™ NS (L, 1)=__

Options:

(1,2)

.
33
(4.3)
3
1 2)
l23)
4.
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Let T : V5 (R) =V; (R) defined by T (a,b,c) = (33, a-b, 2a+b+c), then
(TE-0) (T3 =

T:V3(R)—=V3(R)&30 T(a,b,c)=(3a,a-b,2a+b+c)

e EJ(‘.ESTEJGTEJES (T50) (T3} =

Options:

3
L.
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If K is the eigen value of a matrix A, then the eighen value of Atis
A 5| @% orEeds Soresn K eons ATSH ergedl Sresn

Options:
K
l.
|
K
2.
3 K
Kz
4
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Let V(F) be a vector space and W be the subspace of V. If dim
f V ]

(V(F)) = 20 and dim (W) = 5, then dim [ﬁ =

V(F) 38 srodoremdd W o.¥ arodord s dim (V(F)) =20
.-"LI." '

208a30 dim (W) = Secnsdve dim | — |=

50 im (W) YOI dim l - |

Options:

1.4

g A2

15
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If V is a finite dimensional vector space with n dimension and T :
V—V is a linear transformation, then Rank (T) + Nullity (T) =
Ve n 3808 D055 He IQToS8T 50 &ons
B0 T: V=V o5 waoew D035 @onddpis

Rank (T) + Nullity (T) =

Options:

i 2n

[

n-1

2n
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Let B = {(1, 0) (0, 1)} and B' = {(1, 3) (2, 5)} be the bases of R*. Then
the transition matrix from B to B is
B ={(1,0) (0, 1)} 08a%0 B'={(1, 3) (2, 5)}

e Rlﬁwt"w STT e BORIIPED B S0d B'® Po o[ Ir|@E

Options:
[ 1
‘k:% 4

2.

I 2]
£3
vZ 1]
5 s

4.
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If o, P are in real inner product space R and ||cf|=]|B||, then ((o-PB),
(oHP))=__

TN YoLTn WoST YR R $° a,
Peo Yo& 08 [lof|=||Blloenszpis ((o-p), (atp))=___

Options:

L
1.

o+
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Let V3(R) is an inner product space and av= (-1, 0, 1), p= (2, 0, -2)
are in V3(R), then (a+p)=

V3(R) a8 @oeﬁgg eodordan Sddiv a=(-1,0,1),p=(2,0, -2)
ev V3(R) §° 5o (a+f)=___

Options:

(1,0,-1)

- (1,0,2)

3 {1: OJ "2}

, (1,0,1)
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If o and P are orthogonal unit vectors in V(R) the distance
between them is

5080 B e V(R) ' ooefich dhrdd S8¥0onstp
D ;5365 SroaEw

Options:



L2
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If A and B are the non-zero column and row matrices respectively,
then rank (AB) =
A So0ci® B @ SR WPgBY GTod Soddin Hof
STS5000S @RPD (AB) £F¢3 =

Options:

i
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If Tis a linear operator on R? defined by T (x, y) = (x-y, y), then T?(x,
yl=___

RIS T ¥ aanew DOEL T(X, y)=(xy, y) v gJESfJOfﬁEJ&Eﬁ
EJ?.’:;}JCQ:« T4(x, y)

Options:

(x, 2y-X)
1.

 (x2y,y)

19



; (2x, x-2v)

" (x+2y, y)
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If Ais a linear operator on R* defined by T(x,y) = (4x-2y, 2x+y),
then the matrix of T relative to the standard basis is

R'S® T zamew D858 T(x, y) = (4x - 2y, 2x +y) ™ DSDoDS T
03:.35‘}_]_ ST DS @"&Fi‘%ﬁ e o

Options:

5 37
2 “1

g = =
i s
i

. =

Question Number : 148 Question Id : 2767703785 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

) -
If A=|2 1 2|, thenA®—4A=
2 2 1
P 2 2
A=|2 1 2|eonSIpid A -4A=_
o 2
Options:
31

1.

51

2,
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5 3 3 1N
For A=|-2 1 -1|, X=|-1|ifAx=Kx,thenK=___
2 2 4 %
§ 2 %]
A=|-2 1 -1, X=|-1|o5 Ax=Kx @QJJ;:J"‘?.’::JJCQJK:_
|2 2 4 1)
Options:
2
1.
7 3
3 4
4.5
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-

Sy =g =3
Rankof |3 4 5 1is
|4 5 6
o [,
3 4 5 cﬁm_.;&i'ﬁei
4 3 B
Options:
1.2
o3
1






